@UE-3/ SECTION-A
gy Ear 19 8 H uie & 1 3im ¥ yerE Wy B =R faee fag o AU
anaeRt He foehed A & |
Question numbers 1 to & carry one mark each. For each question, four alternative

Ehgices have been provided of which only one is correct. You have fo select the correct
choice.

ﬁmﬁﬁmwiﬁ:mmmm%?

13 17 93 63
Ay e e o —
(A) &0 @) 160 © 420 ®) 240
Which of the following numbers has non-terminating repeating decimal expansion 7
13 17 93 63
A ey e — SR e
&) 80 ®) 160 © 420 ©) 240

ﬂﬁﬁ%’p{x}%\gm—ﬁ ZveE E, e FER

(A) 252-9  (B) -5 () ¥-25 M) 9%°-25
If \E and — E are the zeroes of a polynomial p(x), then p(x) i
(A) 25¢°—9 (B) 3’5 (C) »-25 (D) 9x—25

feqr % T AABC ~ ADEF 81 9 ar(AABO)=121 372 ar(ADEF)=196 J#1* 30
AC=1328 7. & T DE &l @aK & :
(a) 168 (B) 88HHL (© 1548 (D) 128

Given that AABC ~ ADEE. If ar(AABC)=121 cm’, ar(ADEF) =196 cm” and AC=132 cm
then the length of DF is :
(A) 168cm (B) 8Baom ({C) 154cm ™) 12Zcm

IfE sin2A = 2sinA FH ERAFAAE

Ay @ (B) 30¢° © (D) 60
If sin2A = 2<inA is true, then A equals :
(a) o (B) 30° © 45 D) 60°
e f5 4 8
HET 3
J5 -3 =
(A) e den ¥ () FOCEEENT
© TEilEE (D) wEd Hew
: J5+3 .
The number —\-'55_5._—3 is:
(A)  arational number (B) an irrational number
(C) aninteger (D)  anatural number

ﬂi‘ﬂﬁﬁqﬁmwhﬂy:?wax—ey:u@ﬁamaﬁa%ﬁr k1 (3F) THE
(a) 6 (B) 6 F1 BreF Tl arias
© -6 (D) _ 6 1 Fret Qi FrAfaE e
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10.

11

13.

If the pair of linear equations 2x+ky=7 and 3x—9y=12 is consistent and independent,

then the value(s) of k are :
{g 6 (B) all real numbers except 6
{ sy (D)  all real numbers except — 6

“12 tanf= s T o Aag anﬂ = FIAAE :
3 3 sinfl + 2 cosfl

5 % 13 13
i A e ; D) —
G I ® 3 © 3 @ 3
Etanﬂz-‘—i-.then&Evaiueof M is:

3 3 sinf + 2 cosb

5 7 13 13
G ® 3 © = @ 15
forcy ARERAT 27 1 AT F L
[ = 5-10 | 10-15 | 15-20 | 20-25 | 25-30 [30-35 |
| 5 | Bl 1 | i "
(A) 15-20 (B) 25-30 (© 20-25 (D) 10-15
The median class of the following frequency distribution is :
Classes | 5-10 | 10-15 | 15-20 | 20-25 25_30 | 30-35 |
Frequency | 5 g o1 e | 10 Bie v}
(A)  15-20 (B) 25-30 (©) 20-25 (D) 10-15

Uz~ / SECTION-B
oo T 9 W 14 F T F 230 B

Question numbers 9 to 14 carry two marks each.

0431 F1 THF ST TOHEE] % ToH % w9 ¥ fafEd
Express 2431 as a product of its prime factors.

EYE p(x) _ 5y 14y —3 3 Y 1 A Y] AR S EqiEedl
Find the sum and product of the zeroes of the polynomial p(x)= 5x° +14x—3.

& Ty B % Gewe ¥ 25 : 49 T A T i § S T S T

yirdeial =1 U A6 HIL |

Areas of two similar triangles are in the ratio 25 : 49. Find the ratio of their sides and ratio

of their corresponding altitudes.

1- tan=30°
oH T G ¢ ————
1 + tan“30°
1 — tan?30°
1 + tan230°

o =g WA Hitg FEE IEE 34+ 5 a1 3— 5 Bl

Evaluate :
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14.

15.

16.

17.

Find the polynomial whose zeroes are 3 + J5 and 3—5.
foresy ST H2 T A T B
| TR ]
@ | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 |
wara | 8 11}120'|15|?J
Find the mean of the following frequency distribution :
Classes | 10-20 | 20-30 30-40 | 40-50 | 50-60
Frequen 8 10 og. |, 15 7

w79@ /OR

e w2 1 e T I,
[ 10-15 | 15-20 | 20-25 | 25-30 | 30-35
ARE = | 20 B 1

Calculate the mode of the following distribution :

Classes | 10-15 | 15-20 | 20-25 75-30 | 30-35 |
Fge:quencv| 4 FE 8 Haa

==-1 / SECTION-C
AT s A TEE H 3F LI

Question numbers 15 to 24 carry three marks each.

Hﬁhnampmm:ﬁvfﬁgﬁcwmﬁﬁiﬁﬁﬁ%mﬁﬁmﬁc~mR%ﬁrﬁ?ﬁﬁm
e Al o,
PQ PM

If AD and PM are altitudes of AABC and POQR respectively where AABC ~ APQR, then
AB AD

prove that — = — -

PQ PM

Tqi% o, P FEIS 397 — 2y —8 F IHF T, ﬁﬂa@ﬁmaﬂﬁﬁﬁﬂéﬁw% ad %%i

If « and P are zeroes of the polynomial 32— 2x— 8, then find the polynomial whose zeroes

are _1, and l

@ B

aﬁqﬁuﬁmmwwm%mw%amﬁmﬁwm@hmﬂﬁww
¥ ot q o e €

" Ghow that every positive even infeger is of the form 2q and every positive odd integer is of

the form 2q +1 whereq is some infeger.

a1e7@t JOR
TEmE 513 41437 F A9, T, TG i e Featud wieng o WA X T = 2w
% TR B |
Find the HCF and LCM of the numbers 513 and 437 and verify HCEF x LCM = product of
the two numbers.
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18. WW%W?&WW%W;

P pan 2ara
sec54° — cot®36 : :
5 + 2 sin”38° sect52° — s 245°
cosec?57° — tan*33°
“Whthout using trigonometric tables evaluate :

2 2
sec” 54 — cot” 36° : i . -
5 5 +25m238° seciﬂ?_ — 51.1124::
cosec”57° — tan”33°

19.  =gE (-3¢ -12x+19) T (¥ +x-6) 3wy St T W Fi g A e

ST
Divide the polynomial (' —3x"~12x+19) by (x*+x—6) and verify the result by division
algorithm.

20. e ot H A x a4y & e T S

e, R
y y
T o S F iy = ke — 6 T W
Solve the following pair of equations for x and y:
S D ] BT
y y
| Also find k such thaty=kx—6 :
| #=ET JOR
xﬂy%ﬁﬁ'ﬁ%ﬁﬁﬂ:

39x+43y=203; 43x+ 3%y =207
Solve forxand y :
39x+ 43y =203 ; 43x + 3%y =207

o1, o Faf gro Fre ARETE ded 1 AT T wi
[ = 0-30 | 30-60 | 60-90 | 90120 | 120-150 | 150-180
| | aweme | 12 21 | 52 0 ML
Use the step-deviation method to find the mean of the following frequency distribution :

Classes [ 0-30 | 30-60 | 60-90 90 -120 | 120-150 | 150-180
Frequency S B W s Eegee) 1 |

22,  @AEd ABCD ¥ =0 w5 e faig O feom &1 Tag i 5

OB +0D*=0A%+0C"
A D

(@)
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26.

27.

]

O is any point inside a r%:tangle ABCD. Prove that OB*+ OD*=04a"+0C’
A

-

B i

3791 JOR
ﬁ%@ﬁgﬁﬁ,fﬂﬁﬁﬁﬂqﬁwﬁwgﬁ?%aﬁwﬁﬁwaﬂﬂ%wﬁdﬁaﬂqaﬁ%
TR WE R

In an equilateral triangle, prove that three times the square of one side is equal to four
times the square of one of its altitudes. '

s,

fag Fifau 7 - ____smﬂq 290 = tanf
Zros” < Etosh

sinf —Esirl?’{l

Prove that : = tanf

2::0:-;39 — cosf

forey sz = T 27 B, A p 1 HH S HIe
=it 0-10 | 10-20 | 20-30 | 30-40 | 40-50
arar | 8 T 13 10

“The mean of the following distribution is 27. Find the value of p.
| Classes 0-10 | 10-20 | 20-30 | 30-40 | 40-50

Frequency | 8 | P 12 13 10

@r=-g/ SECTION-D
T AT 25 B M TAF & 4FFH B |

Question numbers 25 to 34 carry four marks each.

fag =i i 3 T sl S ) - =9iEE 5 2 4 3 ¥ T i e §

Prove that +/3 is an irrational number. Hence show that 2 + J3 is also irrational.

foresy el g et A we WIS x—y+1=0;3x+2y—12=0
wﬁaﬁmmﬁmmﬁmﬁmﬁﬁﬁﬂ%mﬁﬂmxﬂﬁﬁm%

Solve the following pair of equations graphically x—y+ 1=0;3x+2y—12=0
Also find the area of the triangle formed by these lines represented by the above equations
and x-axis.

ﬁ-ﬁﬁﬁﬁfﬂ?: sinf + cosh - sinfl — cos r B .
sinft — cosb sinfl + cosfl 1 — zmszﬂ

sinf + cosf | sinf — cosh = 2
sinb —cosd  sin@ +cosb 1 —2cosd

Prove that :

Page 7 of 9




28.

i

29.

iy sl = OrEE W I

K FHardl
108 F9 4

o 20 HFH 16
30 ¥ ®H 40
40H =TT 76

50§ FH 9%

60 9 FH 112
70 € HH 120
80 T FH 125
Find the median of the following data :

Value Frequency |

Less than 10 4 |
Less than 20 16
Less than 30 40
Less than 40 76
Less than 50 96
Less than 60 112
Less than 70 120
1 Less than 80 | 125

AEUT p(x) = 6" + 1" —27x" = 2 +30 ¥ o YOF T HIC AR T 4 YEAD 2 a6 -2
l

Find the other zeroes of the polynomial p(x)= 6’ +2° — 272" —2x + 30 if two of its zeroes are

JZ and — 2.
a7t JOR

ﬁ@fm%mﬁzm@HH@wammﬁmmﬁﬁﬁ%?ﬁwﬁ% . 9 T
aﬁﬁﬁqm—@mﬁmmam%@m%p firmt 3T o

If the numerator of a certain fraction is increased by 2 and denominator by 1, the fraction

-

becomes equal to % If the numerator and denominator is each diminished by 1, the

fraction becomes equal to %, find the fraction.

forg Hitew 5 Bt e 37 % 491§ waia, 39 9 gt 1 ot figedl W wio=2w # 0 H
feg, e v W S R, i B e o @ o F it & o
Prove that if a line is drawn parallel to one side of a triangle to intersect the other two sides

in distinct points then the other two sides are divided in the same ratio.
319ET JOR

mmﬁaﬁﬁﬁrﬁgﬁﬁﬁwmaﬁmaﬁ@%w&ﬂﬂ%w%ﬂm
ayet] 3 T S 0T T B €
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31.

Prove that in a triangle, if square of one side is equal to the sum of the squares of the other
two sides, then the angle opposite the firstside isa right angle.

aﬁeﬁqv{ﬁm%ﬁmme:% &

(i) secl + cosech T FHifag
"(i'_ﬁ T 1 4+ cotd = cosec™d F1 FeAd HITY

Eﬂisanacutea_ngleandtzmﬂ=%

(1) evaluate sech +cosec
() verify the identity 1+cot'8= cosec’d

32. 4t AABC #! Weud AB 1 BC a9l MiEH AD HH: APQR #t W= PQ, QR 71 HfeaeH1

33.

34.

PM % TEHERET &, 1 <R % AABC ~ APQR

7\ /P\
B D = Q M E

Sides AB and BC and median AD of a AABC are respectively proportional to sides PQ, QR
and median PM of another APQR. Show that AABC ~ APOR.

/A\ /P\
B D i o % R

. -0
AqfE sech+tanb=m & 91 <7 6 1“2 L sind
m- +1

2
If sech + tanf = m, show that mT—l =ginf
m-+1

forey 2 T e 3 30 Tyl W e ¥

[WR (Fe. 7. 8) [0-45[45-50[50-55 | 55-60 | 6065 65-70 | 70-7
[Fadwwen| 2 | 5 | 8 | 6 [ 6 | 3 | 2
I deA F 'Y ¥ R T wed T Sare a1 gHeh AR ey |

The distribution below gives the weights of 30 students of aclass: :
Weight (kg) 045 | 4550 | 50-55]55-60 ] 60-65]65-70 70 -75
Number of students | 2 3 8 6 TS DR
Change the above distribution to ‘more than type’ distribution and draw its ogive.

-0 o-
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